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�40�160�40�140�40�20�40�115�40�45�40�91�40�69��� EMBED Equation.2  ����160/40 = 4.0



AO�140/40 = 3.5 



AC�20/40 = 0.5



AR�115/40 = 2.9



AC�45/40 = 1.1



AR�91/40 =2.3



AC�69/4 = 1.7
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�“MEASURED”�The Erlang Table:��n�Rejected Calls, Nos.�No. of rejected calls�B�E�AR/AO�E(=B)��

8

�-�0�0�1/40 = �0.03�0�0.03��

6

�11, 12, 27�3�3/32 =� 0.09�4/40 =� 0.10�05/40 = 0.13�0.12���4�9, 10, 11, 12, 25, 26, 27, 35��12��8/32 =� 0.25��16/40 = 0.40��1.1/4.0 = 0.28��0.31���3�5, 9, 10, 11, 12, 16, 22, 25, 26, 27, 31, 35��12��12/32 = 0.38��21/40 = 0.53��1.7/4.0 = 0.43��0.45���
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��GROUP I�GROUP II����Ac�Same as for group II:�2.3 erl.�See p. 14:�2.3 erl.���yc�All calls connected:�32/10 = 3.2 calls/min.�See p. 15: (32-12)/10 =�2.0 calls/min���YR�All calls connected: �0�See p. 15: 12/10 =�1.2 calls/min����Sc�2.3/3.2 =�0.72 min.�2.3/2.0 =�1.15 min.���B�0�1.2/(1.2 + 2.0) =�0.38���AO�2.3 erl.�2.3/(1-0.38) =�3.7 erl.��
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